ICSE Guess Paper - 2008

Class - X

Subject - Physics

CH. – 10. ELECTROMAGNETISM 

Question – 1. Name the principle on which the functioning of a transformer depends. Can a transformer work when it is connected to a dc source ? 

Question – 2. Describe the construction and working of a simple step-up transformer. What is the function of a step-up   transformer ?  

Question – 3. Draw a labelled diagram of a dc motor. State the function of a split ring in a dc motor. What is the energy changes involved in this case. 

NUMERICALS 

Numerical – 1. A step down transformer lowers emf from 220 V to 20 V. If the number of turns in primary coil is 5410, how many turns are in secondary coil. 

Solution :- Here,  EP = 220 V, ES = 20 V, NP = 4510, NS = ? 

                  We know that, ES/EP = NS/NP            

                                 Or, 20 V/220 V = NS/ 4510 

                                 Or, NS = 4510 × 20 / 220 = 410 

                  Number of turns = 410 [Ans.] 

Numerical – 2. A transformer lowers emf from 220 V to 15 V. If 330 W power is given in primary coil, calculate : (i) the current in primary coil and (ii) the current in secondary coil. 

Solution :- Here, Power  = 330 W, EP = 220 V, ES = 15 V,  IP = ?, IS = ? 

                        (i)    Power = IP × EP  

                                 Or, IP = Power / EP = 330 / 220 = 1.5 A 

                        (ii) using,    IP × EP = IS × ES 

                                 or,        IS = IP × EP / ES = 1.5 × 220 / 15 

                                                                          = 22 A [Ans.] 
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